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BACHELOR’S DEGREE 

PROGRAMME (BDP)  

Term-End Examination 

June, 2025 

BPY-003 : ANCIENT AND MEDIEVAL 

PHILOSOPHY  

Time : 3 Hours  Maximum Marks : 100 

Note : (i) Answer all the five questions. 

 (ii) All questions carry equal marks. 

 (iii) Answer to Question Nos. 1 and 2 

should be in about 400 words each. 

1. Compare between Zeno’s and Stoic’s idea of 

God.    20   

Or 

Write an essay on the Socratic methods.  

2. Discuss in detail the difference between 

Plato’s and Aristotle’s theory of forms. 20 
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Or 

How does Thomas Aquinas prove the 

existence of God ? Explain.  

3. Answer any two of the following questions in 

about 200 words each : 

(a) “Man is the measure of all things.” 

Explain this dictum of Protagoras. 10 

(b) Write a note on the salient features of 

Neo-Platonism. 10 

(c) Write a note on the philosophical 

contribution of Thales. 10 

(d) Discuss briefly the Socratic dictum, 

‘virtue is knowledge’. 10  

4. Answer any four of the following questions 

in about 150 words each : 

(a) What are the main characteristics of 

Jewish Philosophy ? 5  

(b) Write a note on the problem of evil in 

Aquinas’ Philosophy.  5 

(c) Write an essay on Boethius’ distinction 

between random chance and human 

choice.  5 
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(d) “Contemplation is perfect happiness.” 

Discuss briefly. 5   

(e) Write a note on Plato’s idea of state. 5 

(f) What is Ockham’s razor ? Discuss 

briefly.  5 

5. Write short notes on any five of the following 

in about 100 words each :  

(a) Logos  4 

(b) Allegory of cave 4 

(c) Principle of Indestructibility 4 

(d) Nous  4 

(e) Univocity of Being in Scotus’ philosophy  

4 

(f) Everything is in flux. 4 

(g) Pragmatic method 4 

(h) Nihilism  4 
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 BPY–003 

Lukrd mikf/k ikB~;Øe  

(ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

ch-ih-okbZ-&003 % izkphu ,oa e/;dkyhu n'kZu 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) lHkh ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) iz'u Øekad 1 vkSj 2 ds mÙkj yxHkx  

400&400 'kCnksa esa nhft,A 

1- thuks ds vkSj LVksbd ds bZ'oj lEcU/kh fopkjksa dh rqyuk 

dhft,A   20 

vFkok 

lqdjkr dh i¼fr ij fucU/k fyf[k,A  
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2- IysVks ds ,oa vjLrw ds vkdkj (izR;{k) lEcU/kh fl¼kar 

ds e/; vUrj dh foLrkjiwoZd ppkZ dhft,A 20 

vFkok 

FkkWel ,fDoukl bZ'oj ds vfLrRo dks dSls fl¼ djrs  

gSa \ O;k[;k dhft,A  

3- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj yxHkx 

200&200 'kCnksa esa nhft, % 

(v) ßO;fDr (euq";) lHkh oLrqvksa dk ekin.M gSAÞ 

izksVkxksjl dh bl mfDr dh O;k[;k dhft,A 10 

(vk) uo&IysVksokn dh eq[; fo'ks"krkvksa ij fVIi.kh 

fyf[k,A  10 

(b) Fksyht ds nk'kZfud ;ksxnku ij fVIi.kh fyf[k,A 10 

(bZ) ^ln~xq.k Kku gSA* lqdjkr dh bl mfDr ij laf{kIr 

ppkZ dhft,A 10 

4- fuEufyf[kr eas ls fdUgha pkj iz'uksa ds mÙkj yxHkx 

150&150 'kCnksa esa nhft, % 

(v) ;gwnh n'kZu dh eq[; pkfjf=d fo'ks"krk,¡ D;k gSa \ 5 
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(vk) ,fDoukl ds n'kZu esa v'kqHk dh leL;k ij fVIi.kh 

fyf[k,A  5 

(b) cksfFk;l }kjk vkdfLed volj ,oa ekuoh; p;u 

ds e/; Hksn ij fuca/k fyf[k,A 5 

(bZ) ßfparu ije izlékrk gSAÞ la{ksi esa ppkZ dhft,A 5 

(m) IysVks ds jkT;fo"k;d fopkj ij fVIi.kh fyf[k,A 5 

(Å) vksde jst+j D;k gS \ la{ksi esa ppkZ dhft,A 5 

5- fuEufyf[kr eas ls fdUgha ik¡p ij yxHkx 100&100 'kCnksa 

esa laf{kIr fVIif.k;k¡ fyf[k, %  

(v) yksxksl  4 

(vk) xqQk dk :id 4 

(b) vu'ojrk dk fl¼kar 4 

(bZ) ukml   4 

(m) LdkWVl ds n'kZu esa lr~ (chbax) dh vLi"Vrk 4 

(Å) lc dqN izokge; gSA 4 

(,) iz;kstuoknh i¼fr  4 

(,s) 'kwU;okn  4 

× × × × × 


